HKK 24V 3.0 -2308 8

Kompaktaggregat 24V, 3.0kW, 230bar
Compact Powerpack 24V, 3.0kW, 230bar

HANSAVFLEX

Schaltplan, Motorkennlinie / Hydraulic circuit, motor characteristic curve

12,0
10,0
8,0
6,0
4,0
2,0
0,0

’

Volumenstrom / Flow (I/min

-—— - —_ — — - —

230 bar

|
i
|
i
i
!
5 O VSBN-08S
i
i
i
|
i

L

E-Motor 24V, 3.0kW / Pumpe 2,5cm?

25 50 75 100 125 150 175 200 225
Druck / Pressure (bar)

e \/0lUMENSIrOM e Strom
Flow Current

200

150

100

50

Strom / Current (A)

Trotz sorgfaltigster Priifung konnen wir Fehler nicht ausschlieSen und ibernehmen keine Gewéhr fiir die enthaltenen Angaben.

Despite careful checking, we cannot guarantee the accuracy of all information included on this site, and we accept no liability.

HANSA-FLEX AG / 02.2024

Seite 1 von 3

www.hansa-flex.com



HKK 24V 3.0 -2308 8

Kompaktaggregat 24V, 3.0kW, 230bar
Compact Powerpack 24V, 3.0kW, 230bar

HANSAVFLEX

Abmessungen / Dimensions

N*4 Fixing Holes M10

|

7\

h]L \
] &__---:::::'"I': — e
an\ J -
.ﬂ;m 'I N 1
| = P T
| T O 0 n—?‘—ﬁ
L™ .-
// T e
5
20.5 3723
§
% | g
"6: yi
B
19.3
207.5 L0.5 373
530
il_'| T
i < LT ]
©
© T EE
@] .
A i
i R
L )
125 N°*4 Holes 99
763.5 160

Trotz sorgfaltigster Priifung konnen wir Fehler nicht ausschlieSen und ibernehmen keine Gewéhr fiir die enthaltenen Angaben.

Despite careful checking, we cannot guarantee the accuracy of all information included on this site, and we accept no liability.

HANSA-FLEX AG / 02.2024

Seite 2 von 3

www.hansa-flex.com



HKK 24V 3.0 -2308 8

Kompaktaggregat 24V, 3.0kW, 230bar
Compact Powerpack 24V, 3.0kW, 230bar

HANSAVFLEX

Stiickliste / Parts list

@ | NAMEPLATE CA 1D 1

’ TARGHETTA CA 1D

17 KIT-GOT-SUPPORTO-X-K-VITI 1

! KIT-G07-SUPPORTO-X-K-VITI

16 SOCKET HEAD SCREW  150476Z2-M6X16-8.8-CME& L

’ ZYLINDERSCHRAURE [S04T62-M6X16-8.8-CM&

15 OIL RESERVOIR KIT-SO4V-CILINDRICO-& 1

N SERBATOIO OLIO KIT-S04V-CILINDRICO-&

1 FIL PIATTO D80 LAM3/8F 15L 90M FR1.01329 1

N FIL PIATTO D8O LAM3/BF 15L 90M FR1.01329

1 COPPER-SEAL. RING D17.0XD23.0X1.5 ’

- ROMNDELLA IN RAME D17.0X023.0X1.5

17 PIPE SUCTION M A L D12 L1& ]
TUBO SUCTION M A L D12 L18

" FITTING DINZ353 L G3/8B B T12 ]
ANSCHLUSSSTUTZEN  DIN2353 L G3/8 B T12

10 PIPE RETURN M L190 M12X1 1
TURO RETURN M L190 M12X1

9 PIPE RETURN M D L190 M12X1 1
TURO RETURN M D L190 M12X7

8 PIPE RETURN M D L123 M12X1 1
TURO RETURN ™M D L123 M12X1

7 KIT14 POMPA.LD 2.5CC VITI M8X80 .
KIT14 POMPA.LD 2.5CC VITI MBX80

¢ C160-E 26V.3000W -REL.I1SK.24V. 1504 1
C140-E 24V.3000W -REL.ISK.24V.1504

c CARRIER E6Z2-TR.-C163-K-GR1 1

2 TRASC INATORE E62-TR.-(163-K-GR1

, GUARD PLUG P G144 TMGABM RED )

! SCHUTZSTOPFEN P G174 TMGABM RED

3 DUMMY  PLUG TCZ V096004 .
FALSA CARTUCCIA TCZ V096004

? 0-RING NPOO160-110.72X3,53-8 1
J-RING NPOO160-110,72X2,53-8

1 A12/720 K GR.T WSBN.90-250BAR WU VE12.7 1
8127720 K GR.1T VSBN.90O-250BAR VU VE12.7

Pos.|Description Aty

Trotz sorgfaltigster Priifung konnen wir Fehler nicht ausschlieSen und ibernehmen keine Gewéhr fiir die enthaltenen Angaben.

Despite careful checking, we cannot guarantee the accuracy of all information included on this site, and we accept no liability.

HANSA-FLEX AG / 02.2024

Seite 3 von 3

www.hansa-flex.com



